OREC

N=Hhrxualt
IN/—F A TET —
HRC66 2B

(B R)
//};‘/1/%:5 ....................................... 1
7]/*—A%|3 ....................................... 3
\//53:/%5 ....................................... 9
D_gu_éﬂg ....................................... 14
P =T T e 19
7/\‘/1/%25 ....................................... 23

20194E1H11H



HEEBOZFERICDONT

1. EPEREDIERKIC DT

COEPERR( =Y U R M)(E 73 E BB SIBRM SNTLE T,

2. BPmFDREIFICDONT

BFFEOHBERZHANDLE, ZETIEAODEHORE UESICELD T, BELERODEmRES.
@i, —aHlhOESREZ. BmBlERNSHRANIIZE0,

3. EBndDIBRRDIRTR

REUBESZEEHDIHETCRRUTHBDET,
(f51)
36~42 |14V twvhk (12%x5. 50-6)
36 A1t (12%x5. 50-6)
37 A7)\ F>
38 R (12x5, 50-6)
39 RAILIRA
40 NARNLEM8x16
41 NARILEM8%x20
42 ANAFYE (SW) M8

4. B@mEBES(CDLT

HRES (L ROBCR> TOET,
Y (B — K- (31— F)
Wb S 0000-00000
ams | (@I ) - @EI—F)
00-0000-000-00
EEEZ (89 -0000-000000
EEERG |83 -0000-000000

5. BBE@EXICDLT
B@mE. £ TCTIACE1I -9 —TEEIN VDR, TEXORSHEL. BaEsS. nk. HE%.
(CEPmES(FRMEC, TRALIESL.

6. %ﬁﬁ@’i\@ Buu@ﬂi;u%ﬁL
T BMRERGR. ROSHER(T. MRILE. Fv RE)DTEX(E, BB FEEHTHEOUET.
7. [@EHMCOVWT OS> R-BHI>SSOERR)

REHEDOTIL I 7Ry NMITFERDEAERUTULET,

OR A—LvoITSUK M IVEYT /Aﬂ%
IA ISEKIZ7 TSk K AT HFRIUDIER
YB PEURITSUR R l:lt/I‘/ AN

C IIRAT D ALHR




No.HRC662B-16 B R

V2B Rt 1/2

10 [0251-72300 L/x—/N ¢ 22) 2
9 |0285-72110 NRILETFTERETDAY— 2
8 [89-2521-000100 EZLESHER 10 1
7  |89-2521-000050 ERILOEH 5 1
6 |89-1158-060102 HARINAD(PW.SW)MBX10 4
5 [83-1614-932-10 Fiav (v — 1
4  [80-1417-255-00 L/AN\—1EY IR 1
3 |80-1614-251-00 FAT7ToavLN— 1
2  |80-1415-223-00 NRILIR Ry 1
1 [0028-70320 Ty aRAyFAssy 1
E= B & ' 5 B & A B i =




No.HRC662B-16 E ;k ™~

2/23

N2 FILER 2/2

9+10 |0226-70300 AOykJLT A —ASSY 1
13 [0256-11101 \>K)LCMP(EIRN) 1
12 [0253-77100 259FL/\—(170- ¢ 27.2) 2
11 [0913-71210 HYARISYFIA NV — 2
10 [0226-70500 Z2OykLI A — 1
9 |0226-70400 Zayk)LLIN—(¢ 27) 1
8 [89-2521-000100 EZLESHER 10 1
7 [89-2521-000050 EELIESDHE 5 2
6 |83-1614-938-10 JL—F%J04Y— 1
5 |83-1614-932-10 Fiav (v — 1
4 [83-1560-414-00 NG YyT27 2
3 |0006-70500 L/A\—#EY 210 1
2  |80-1614-248-00 IJL—XRTYLY 1
1 80-1614-241-00 EfTTU IV LN— 1

EE B @& B B B & 4 B & =




Norreeszs-16 B RN
1/6

7 L—LER

3/23

HE
m
N -
o
< o|Z
4|..IA./_..|4|.¢|A,\V7_4|ﬁ
B
| R
N oy e
a|R =13 05
Wj.r M_M
LY Dl = | = 5
Ll ||| R
2. - A -
RIZE | LSIZ
_anDm_m—o\@\lblkllw..ﬂ
//o\LA_n_
IN2(2ARIREZ[E 2
[ 7 A NN Ay =/ P
e B BN i)
S| <<l <| <
ily
O|O|N|©O|O|N|N
o|o|—|—|O|v|o mﬁ
(T[] T[=D
ANV O|O|MO|O
OlN|N| T T MW|O|N
OoO|lAN|AN| N N~ O — 1|
=N RN Om|
Slo|o|<|<|o|~|o
O|l—=|—=|—|—|—|n|©O
| I N[O |O|O|N|—|I~
AN|—|—|—|—|—|—|— [==1
1IN RN o
N={=1=1 =11 ==
O|oo|oo|oo|oco|c0|0|of |




No.HRC662B-16 B R

4231 5 L—LE 2/6

18 [0227-12201 RSk 1

17 [0282-20102 18R5SR JLCMP_Fk 1 [oR-YB
0282-20106 1EfIEH/ SRJLCMP & 1 [IA

16 10301-10102 T8 =R R YECMP 7R 1 |OR-YB
0301-10106 TR =R yCMP_ & 1 [A
0295-10201 EFTFRrYIN—T55vr B 1__|OR

15  |0295-10202 FTFRrYIR—DTS5Hvh & 1 |YB
0295-10206 FTFRMNR—TS5H9k & 1 JIA

14 [80-1210-216-00 ARvIN—FE> 2

13 [80-1210-217-00 ZMYIN—RTYH 2

19 |80-1310-203-02 \VF)LEERIRCMP_FR 1 [oR-YB
80-1310-203-06 \VE)LEERIRCMP & 1 [A

11 [80-1310-215-00 S e Sk 2

10 [80-1614-504-21 R )L H/A—CMP 1

9 [89-1211-100162 INBURARILE M10X16 2

8 [89-1211-100202 IMEEFRARILE M10X20 2

7  |89-1233-080162 INRYFR AR )L F(SW.PW)MBX16 4

6 [89-1253-080162 BN RAARILEET) M8X16 2

5 |89-1563-080003 INIUFyREry T M8 =S 0 1

4 ]89-1711-080002 L EEL8X18X1.6 1

3 [89-1750-080002 INREE DS 2

2 [89-1750-100002 INAREE£ P10 4

1 [89-2511-000850 & F AF 8O R85 1

&= B & B B B & £ =R 5 &




No.HRC662B-16 B R

5/23

JL—LE 3/6

20 [0211-54201 T IV T —LA 1
19 [80-1560-551-00 ToiavslERTYLY 2
18  |80-1614-374-30 JL—x0Ovk 1
17 [80-1614-514-20 I oy J—1)— 1
16 [0256-40401 FAITo 3T —L 1
15 [80-1614-552-00 ToavRLAR 2
14 [80-1614-561-21 N)LMEZ 1
13 [83-1032-760-00 T3 T—1)—set 2
12 [83-1565-315-00 T FE £ 8X36X4.5 1
11 [89-1132-080162 FNERJLRSW) M8X16 2
10  [89-1213-080202 INBIZR AR )LR(BT) M8X20 1
9 [89-1213-100202 INBIZRAR)ILER(BT) M10X20 4
8 [89-1750-080002 INRES $8 1
7 |89-1750-100002 INFEE 610 4
6 |89-2151-070300 F—(F#)7X30 1
5 [89-2511-000170 BRFRIE DB 17 2
4 [89-2521-000150 EELIEHER 15 2
3 [89-6122-004600 VA )LRLA-46 1
2  [89-6123-006200 VAL RLB-62 1
1 |- 0—%41)—&8 1
E5 B @& & B & A B I =




No.HRC662B-16

JL—LER 4/6

89-1543-080002

INBYFRE SV R(SW)MS

4 |k
12 13971543-100002 INBYFREFYRSW) M10 4 M
11 [89-1713-080002 FEEECRI) 8%x22x1.6 4 |K
89-1713-100002 TRELE 11X25%2.3 4 [m
10 0334-20202 BEAR—ZACMP 7 2 |OR-YB
0334-20206 BHER—ZACMP & 2 |[IA
g  [0212-40100 [ 1IF A4 EBS 4 [K
0211-31100 EYiEAEE M10/NE 4 M
8 [0225-40601 ETNILMEZ CMP 1
7  [0304-62201 NI)LbHN—A2 Y AK CMP 1
6 [80-1614-521-01 Syl J—1)— 1
5 [89-1213-080402 INBYFR 7R )L R(8TIMBX 40 4 |K
89-1211-100402 INBIZRFAR)LE M10X40 4 M
4 [89-1233-080162 INBYFR AR )L F(SW.PW)M8BX16 4
3 [89-1543-100002 INBYFREFYR(SW) M10 9
2 [89-1713-100002 TRELE 11X25%2.3 5
1 89-2150-050200 F— ([ 4.) 5X20 1
E5 B @ & B & A JEE fig =




No.HRC662B-16 B R

17231 5 —L# 5/6

14 |0251-11302 FzoIL—bk & 1 |OR-YB
0251-11306 FoIL—k F 1 JIA

13 |0253-11501 F T HARCMP 1

12 10253-16100 FroL/N— 1

11 [0253-22411 FIoI—49TL—k 1

10 |0253-22502 FroooyREUt 5k 1 OR-YB
0253-22506 FrooOvrRBfT & 1 [IA

9 [0253-79100 LA—EYT L 127 1

g  |0256-20512 XIS vk 5k 1 |OR-YB
0256-20516 XI55 vk & 1 JIA

7  |83-1565-329-00 ERES 13X22X2.3(HZAA—R) 1

6 [89-1213-101302 INBYFRARILIBT) M10X130 1

5 |89-1232-080162 INZ AR ILR(SW) M8X16 6

4  [89-1233-080162 INBY R AR )L R(SW.PW)M8BX 16 2

3 [89-1611-100042 INEYFRAF VR MI0 1

2 |89-1750-100002 INREE 910 1

1 [89-2131-120002 REY 12 1

&= B & B B B & £ Bk g =




No.HRC662B-16 B R

8/23

JL—LE 6/6

20 [0211-31800 JL—F /1w (X)

19 [0301-01000 2w 3 ASSY

g [0301-20102 AAEIL—L(E) CMP 7 OR-YB
0301-20106 AAIL—L(E) CMP & IA

{7 |0301-20202 AAEIL—L(H) CMP 7 OR'YB
0301-20206 AFEIL—L(H) CMP & 1A
80-1614-312-01 JL—F%H/A\—CMP
80-1614-314-00 JL—%24
80-1614-315-00 B|ERTYLY
80-1920-313-01 TL—FXHN—AR—H —
85—1445—317-00 JL—X/\wx> (/)
85-1711-315-00 JL—FXF5 L4
85-1711-317-00 B|ERTYLY

85-1711-318-00

JL—F% a—tvhk

89-1111-060252

NARILE M6X25

89-1132-060122

FNARILNSW) M6X12

89-1253-081453

FE 4 /Mg 7N AR L M8T) M8X145(a=40)

89-1543-080002

INBY R A SV R(SW) M8

89-1711-060002

EHEES 6X13X1.0

89-1750-060002

NREE ¢6

89-2132-060002

REVERITIEDS) 6

o S 21 B 541 120 BT [oCY (91 eyl Pl P Iy ] =Y

89-2511-000140

B O 14

= IN|WIN|WwlWwlwlw|=|N|= == === = —m—_— | — | —

i
Jjo

= TR

1 T B

B
p:3

&=




No.HRC662B-16 B R

9/23

17 [0251-04301 FIOF7—LCMP H 1
16 |0282-0110H 2w a H—RCMP hUM 1
15 [80-1920-153-0H Y AR5 YFF7—LCMP _hUA4 2
14 [80-1920-197-01 HYARIS9FIAY—=%(HL CMP _H 1
13 [80-1920-198-01 HYARIS9FIAY—=%ItR CMP_H 1
12 [80-1565-159—-0H HEBBE®R/ 1T UM 2
11 [83-1020-349-00 g/ \wE 10 1
10 [83-1484-255-00 ZUFA—/N—Av5F vk M8 9
9 [83-1493-255-00 ZUFRA—/N\—0v45F vk M10(HEE) 1
8 [83-1565-111-00 FNE AR JLMSW.PW(K)) M6 X 16 1
7 [89-1252-100123 FEfH NS AR LS MIOX12(GRED) =4 1
6 [89-1253-081153 FEA /N A ERLIET) M8X115(21=40) 2
5 89-1253-081203 EE{HINEZ AR ILNET) M8X120(=40) 2
4 [89-1253-081353 FE /N FARLNET) M8X135(1=40) 2
3 89-1253-081403 EEfHIMZZN AR )L S(8T) M8X140(=4n0) 3
2 89-1254-101153 EE{HINZ AR ILNET) M10X115(HE) (a=40) 1
1 [89-1543-080002 INBYFRABFVR(SW) M8 2
B B & ' B B & A B i =




No.HRC662B-16 B R

10/23

Swiay g 2/5

18 |0297-08000 A4 )L —)L AP30.55.16(DP{ ) 1
17 |0301-00210 Syiavhy—R A 1
16 |0301-0040H HEBB —XA(H)CMP_hV*4 1
15 |80-1415-114-00 YARISYFIA—D 1
14 |80-1425-112-00 T 789974+ — 8 1
13 |80-1575-152—-1H AR5 YFEBBY—X hUi4 1
12 |83-1415-127-00 < — LR JLR(SW)8 X 20 4
11 |83-1415-671-00 —I)L¥xryT 22 1
10 |83-1415-672-00 —I)L¥ryT 30 2
9 [83-1517-685-00 A4ILEE 20 1
8 [89-1232-080162 INZFREARILR(SW) M8X16 4
7 |89-2111-030020 AT HTEY 3X20 1
6 [89-2111-050020 ATV HTEY 5X20 1
5 |89-2512-000550 J FHIEOHER 55 1
4 [89-3115-060064 74 6006 2RS 2
3 [89-5121-122207 A 4L —)L UE 12.22.07 1
2 [89-5121-153007 A4 )L —)L UE 15.30.07 1
1 89-5121-305007 44 )L —)L UE 30.50.07 1

BH
Al

B & &

B @ %

£z
p:3

&=




No.HRC662B-16 B R

11/23

SwiayvE 3/5

17 [0223-02500 Hh5—L6 1
16 [0251-01610 3§22 T ¥ CMP 1
15 [0282-00110 EHICMP 1
14 [0282-00500 28018 T X7 1
13 [0282-00600 3EH28 T X7 1
12 [80-1575-129-10 E2H24 T X7 1
11 [80-1575-140-00 Y AR5 YT 1
10 [80-1575-141-00 YARISYFI4T XY 2
9 [80-1575-142-00 YARHYS5YF38T X7 1
8 |80-1575-162-00 HARISYFRTYLY 2
7 |80-1920-130-00 HZ5—(A) 1
6 [80-1920-147-00 BHhS— 1
5 [83-1633-362-10 ASART v r— 15X30X1.2 2
4 [83-1830-368-00 ASART Yy r— 18X26X1.0 4
3 [89-2511-000150 B LIESHER 15 2
2 [89-2511-000200 BFHIEOER 20 2
1 [89-3111-062024 RF7Y4 6202 4
= H & ' 5 B & A B i =




No.HRC662B-16 B R

12/23

Syvarip 4/5

21 [0223-00400 IR TA—D8H 1
20 |0223-00600 FH#20T X7 1
19  [0223-00700 FEH14T X7 1
18 [0223-01200 I\NWHXTFCMP 1
17 [0223-01400 EXCE 1
16 [0223-02400 HS5—L11 1
15 [0251-00300 IR T4 1
14 [0251-01100 Svia E— 1
13 [0251-01300 2832 T X 1
12 [0251-02100 3EM14T ¥V CMP 1
11 [0282-00400 J9FRT)Y 1
10 [0301-00500 5 2 1
9 [80-1575-109-00 BIZERAS 7—LCMP 1
8 [83-1310-371-00 A5 ATy — 20X30X1.0 2
7 |83-1830-368-00 A5ART Y v— 18X26X1.0 2
6 [89-2120-200202 L 2X20 1
5 [89-2511-000160 B &HER 16 1
4 [89-3111-062024 7YY 6202 4
3 [89-3410-075000 MERK7. 5 1
2 [89-3510-012200 DUTJwi 2 1220 1
1 [89-5221-009000 0J>4 P9 1
&5 B & B B B & A EES fi& =




No.HRC662B-16 B R

Sy a g 5/5

21 [0282-00110 EEHCMP 1
20 [0297-08000 Z4)L>—)L AP30.55.16(DP{1E) 1
19 |0301-00100 Sviavhy—R k& 1 [~JUAAC00036
0301-00110 Sviavhy—RX k& 1 [JUAAC00036~
18 [0301-0030H HEBBS —X (E)CMP_h Vi3 1
17 [80-1415-114-00 YARISYFIA—Y 1
16 |80-1425-112-00 T899 74—98h 1
15 |80-1575-152-1H AR5y FEBBY —R hUM 1
14 [83-1415-127-00 < — LR )L (SW)8 X 20 4
13 [83-1415-671-00 —I)ILxvyT 22 1
12 [83-1415-672-00 o—I)LE¥ryT 30 2
11 |83-1517-685-00 4Lk 20 1
10 |89-1232-080162 INEZFN AR )LR(SW) M8X16 4
9 [89-1251-060102 FE{F 7R AAILEMEX10 1 [JUAAC00036~
8  [89-2111-030020 AT HTEY 3X20 1
7 [89-2111-050020 AT HTEY 5X20 1
6 [89-2512-000550 JNFHIEOHER 55 1
5 |89-3115-060064 N71)> %4 6006 2RS 2
4 ]89-5121-122207 A4JL—)L UE 12.22.07 1
3 [89-5121-153007 A4 JL—)L UE 15.30.07 1
2 [89-5121-305007 A4 JL>—)L UE 30.50.07 1
1 [89-5230-060000 =Ly r— 6 1 [JUAAC00036~
&= B & B & A =R B &




No.HRC662B-16 E ;k ™~

18 [0285-62400 M= ERILECMP 1

17 |0282-60201 WFIREKCMP B 1

16 |0282-31300 A7O4vkEY 2 |[IEEERSfER

15 [89-2131-100002 RE>10 2

14 [89-2111-050022 AT T E5X22 1

13 [89-1714-120002 EREES12X24X2.3 (A ) 1

12 [89-1711-100002 EEEL10X18X1.6 2

11 [89-1611-080042 INEYFRABF VM8 2

10 [89-1581-060042 EEfF S vb M6 5

9 [89-1211-080252 INBI R AR )L RM8X25 2

8 [89-1137-060152 FNARILEPWIM6EX15 5

7 [84-1723-739-00 NS ZERE/NVEILCMP 1

6 [83-1713-166-00 BEE>10 % 80 1

5 [83-1210-425-00 L/Ax—#EY10 1

4 [80-1614-782-10 XI5y — 1

3 [80-1614-742-12 WEFERILEZIT F 1 |OR-YB
80-1614-742-16 WEREBRILEZIT & 1 JIA

2 |80-1613-733-11 e = 1
80-1610-787-01 75y\—#Zz B2 1_|OR

1 |80-1610-787-02 . 1__|YB
80-1610-787-06 259N\—#z F 1 [IA

&5 B & EB B B & A EE &




No.HRC662B-16 B R

15/23

A—421Y—& 2/5

18 [0256-60700 A ARHIN— 2

17 [89-3370-051105 ASARRT) 451105 2

16 [89-2181-100502 SEBEE 210 X 50 1

15 [89-2131-100002 RE>10 1

14 [89-1750-140002 NREZ D14 2

13 [89-1750-120002 INREZ P12 2

12 [89-1714-120002 ERES12X24X2.3 (A A1) 2

11 [89-1543-100002 INEUFR AV RSWIMI0 2

10 [89-1211-100952 INBI R MR )L RM10X95 2

9 [84-1783-791-00 J)—R=wT)LRJLE 2

8 [83-1783-376-00 A5 AT Y x—25X34X1.0 2

7 [83-1610-192-00 NATVEEI)MI2 P1.25 2

6 [83-1415-975-00 JYR=vT)LM6 2

5 [80-1614-727-00 D) 2

4  |80-1614-726-00 AIERHS— 2

5 [80-1614-725-22 A 24— CMP_ 7k 2 |OR-YB

80-1614-725-26 B 7A+—4~CMP & 2 |IA
, [80-1614-723-22 2O h7—LCMP 7 1 |OR-YB
80-1614-723-26 JA 7—LCMP & 1 JIA

1 80-1610-714-00 202 7 — L EUT B 2
EE B & ' = B & A B & =




No.HRC662B-16 E ;k ™~

16/23 p—smy—g 3/5

20 [89-6123-003900 VA )L RLB-39 1

19 |0285-66100 EO L 3.2tX30 2

18 [0211-63201 JA kT2 37 —LCMP 1

17 [89-3115-062034 ~R71)>246203 2RS 1

16 [89-2521-000150 EZIIFHER15 1

15 [89-2521-000120 EZI I HER12 2

14 [89-2512-000400 77 FH LE R 40 1

13 [89-2511-000170 Bl AR I HER17 1

12 [89-1611-080042 INEUFRAF VM8 2

11 [89-1581-060042 BT F M6 5

10 [89-1233-080162 INBY R AR )L R(SW.PW)M8BX16 2

9 [89-1137-060152 FNARILEPW) M6X15 77 tyhk 5

8 |83-1630-342-00 TEL 15X26%X2.3 2

7 [83-1032-765-00 T3 T—)— 1

6 [80-1614-781-10 20 875y /8— 1
80—1614-764-01 JA kH/IA—CMP B 1 |OR

5 [80-1614-764-02 JA2kH/A—CMP 7k 1 |yB
80—1614-764-06 JA kH/A—CMP & 1 JIA

4 [80-1614-694-11 FAITN)LRA/A— 1

3 |80-1614-315-00 glERT)Y 1
80-1610-787-01 25y —Z B 1 OR

2 [80-1610-787-02 259IN\—3#Z F 1__|YB
80-1610-787-06 J25yN—i8z &F 1 [IA

1 [80-1182-527-00 ToiavslERILE 1

EE B & ' = B & £ [ & =




No.HRC662B-16 B R

/23 p—sy—# 4/5

18 [0231-37101 FA42JL—*F 1

17  [0212-72100 INBUZR AR )L EM10X25(8T A 47) 2

16 [89-3115-060044 ~N71)>46004 2RS 2

15 [89-2521-000150 EEIEHER15 1

14 |89-2151-070300 F—(F#)7%x30 1

13 |89-2151-050350 F—(F3)5X35 2

12 [89-1750-100002 INKEE P10 3

11 [89-1750-080002 INTRER DS 4

10 [89-1213-080182 INBYFR 7R )L M(8T)MBX 18 4

9 [83-1610-322-00 I EE 4 10X36X6 1

8 |83-1610-125-00 INBUZR AR )L EM10X35(8T A 47) 1

7  [83-1610-321-00 I E 4 10X36X4.5 2

6 [83-1020-363-00 AT AR r—16X24%X1.0 1

5 [80-1614-691-32 HYR—42—/N{TCMP 7 1 OR'YB

80-1614-691-36 HR—3—/N\{JCMP & 1 [IA

4 [80-1614-636-00 YiR—42—T—1)— 2

3 [80-1614-634-21 FA42T—1)— 1

2 |80-1614-621-30 HR—4—&h 1

1 80-1614-373-20 FA7TL—F/\F% 1
B B m ' 5 B & A B & =




No.HRC662B-16 B R

18/23

A—421—& 5/5

6o o \7J
;o 6 © ©
6 6 © ®

0285-60401 FATJEBBY—XZIT H OR
17 [0285-60402 FATEBBY—RXZI(T 7 YB

0285-60406 FATMBBY—RXZIT & 1A

0282-60101 O—A41)—h/N\—CMP H OR
16 [0282-60102 O—41)—Hh/N\—CMP 7 YB

0282-60106 O—41)—h/N\—CMP & 1A

89-3115-062064 74 6206 2RS

89-2512-000620 NEIEDER 62

89-1812-100002 TS (AsE) 10

89-1750-080002 INRPEE ¢ 8

89-1671-080042

INRIFRFARF VL M8

89-1253-080162

BN <AL N(E8T) M8X16

83-1610-835-00

ﬁ')lﬁri-i)WSET

83-1610-321-00

EEES 10X36X4.5

83-1610-124-00

INBY R E R ILEMI0X25(8T.EX 1) Ay %)

80-1614-810-00

BB —AH/\—

e D51 S N 11 £= ) BN =) [Y=1 b=l I P I P

80-1614-800-00 +A4IKSLASSY
80-1614-705-00 AR FEERILE M8 X 18
80-1612-813-01 FRARHIN—
80-1610-821-00 >4
80-1610-804-01 BB~ —X
#S | B & ®E B B & A B B &




No.HRC662B-16 E ;k ™~

923 yo—5—# 1/4

7 [89-2132-100002 RE>(@RIT1EDH) 10 1

6 [89-1233-080202 INBYFR ARV RSW.PW)MS X 20 2

5  |0301-30702 AR—2H—F(L)CMP 7R 1 OR-YB

0301-30706 A=A —F(L)CMP & 1 [IA

4 10282-70300 AR —IL 1

3 [0282-70200 £20—5—W160 X P60 X L24 1

2 [0282-31310 ATOTvkEY 1 |IEESRER

1 |0282-3010H EREiRJ 04y RCMP_h'vr4 1
'S B m ' 5 B & A [k lis =




No.HRC662B-16 B R

/23 pn—5—# 2/4

14 [89-5222-065000 0!)>% G65 1
13 [89-5121-254210 #A4)L>—)L UE 25.42.10 1
12 [89-3115-060044 K714 6004 2RS 1
11 [89-3115-060034 X714 6003 2RS 1
10 [89-2511-000630 Bl A I DR 63 1
9 [89-1713-080002 TRES 8% 22X 1.6 1
8 [89-1511-140042 NAFvYE M4 1
7  [89-1232-080162 INBY R 7R )L R(SW) M8 X 16 1
6 [89-1111-141407 ANARILE M14x 140(&3) 1
5 [83-1415-975-00 J)R=vTIJLM6 1
4 [0282-70400 o—I)IL¥vyT 35 1
3 [0282-3050H ELERCMP  h'vAr4 1
2 [0282-3040H BEEHIUTCMP Vi 1
1 |0282-3020H HO—5—F7—LECMP fuir4 1
EE B m ' 5 B & A [k g =




No.HRC662B-16 B R

2/ yo—5—# 3/4

11 [89-1750-100002 INREEE $10 2 |K

10 |89-1714-100002 EREL 10X22%X1.6 2 |K

9 [89-1236-100252 INEIZRF AR )L R(SW.PW) M10 X 25(7T) 2

8 [89-1233-080202 INEUFR AR L F(SW.PW) M8 X 20 2

; |89-1236-100252 INEIZR AR )L R(SW.PW) M10 X 25(7T) 2 [M
89-1213-100352 INBIZRARJLR(BT) M10 X 35 2 |k

6  |0301-30602 AR—2H—F(R)CMP 7k 1 OR-YB
0301-30606 A—2H—FR)CMP & 1 [1IA

5 [0282-71100 HO0—5—HZ /R 1

4 [0282-70200 20 —5—W160 X P60 X L24 1

3 [0282-3120H EGEE/N—CMP UM 1

2 [0282-3110H ERER/N— AU 1

1 |0282-3080H AR—HY— fUM 2 |k

&5 B & B 5 B & A JEE fi& =




No.HRC662B-16 B R

2/28 po—5—# 4/4

SN N AN Y

( \f

(18)(s

VNTANV YN,

/
/
o /Q — X NN
( \7\1”’ |6 JHL/A )15 ) 12 ;H:/\O \“/7 )

NN NN N

18 |89-5222-065000 0! 4 G65 1
17 [89-5121-254210 A4 )L —)L UE 25.42.10 1
16 [89-3115-060044 A7) 4 6004 2RS 1
15 [89-3115-060034 A7) 4 6003 2RS 1
14 [89-2511-000630 B A 1E 6 63 1
13 [89-2132-100002 RE>GRIFIESH) 10 1
12 [89-1713-080002 FRER 8x22X1.6 1
11 |89-1511-140042 AT VL M4 1
10 [89-1232-080162 INEYFRF AR )L R(SW) M8 X 16 1
9 [89-1111-141407 NAERILE M14x 1402 1) 1
8 [83-1415-975-00 JY)R=wT)LM6 1
7 [0282-70400 —I)LF¥ryT 35 1
6 [0282-70300 BAR—IL 1
5 [0282-31310 ATOvrEY 1 IEEEfm{ER
4 [0282-3050H BLERCMP h'Ur4 1
3 [0282-3040H SBEHRIVTCMP _HUA48 1
2 |0282-3030H HA—5—F7—LFHBCMP Hvi4 1
1 |0282-3010H EREgiR 704y RCMP_h'vA4 1
EE B & B B B & A = & =




No.HRC662B-16 E ;k ™

0301-70100

/8|5 0188 1/1 R
=

HIR

| nvo—rroo-5- ||

HRC662BE X ~—%

83-1614-920-10
NIV A RT—Y

HRB61 A T3 ‘
e B
T SALBA] | SALTAI 80-1614-904-00
= SB62x1 | SBHAxT N
F75 | 5634x1 [ SBaox] /'l'\/*‘/l*'?—ﬁ
SorarAca w40 1.8 ({7
Tl 0T

KA YL —RRBIZBE

80-1614-905-00 02 82 70700
RILNTr—RAT—4H IA—5—F8Y—Y
80-1610-927-00 IIII OREC
MNEiHET—Y
0285-70500

ORECHI¥—%B09

FOREMITR DBA LD LIV FALL
BO7 A TTFPREATALES.

83-1484-921-00

FATEET—H

0282-70610

A A HRELHSN)L
%= =9 80-1614-906-00
HiIN—<—4

80-1415-915-10 80-1565-914-00 %N
FAOEER—Y EFT—Y j,@ "'t%
-
0301-70200

oy 4R Syiavv—y %

80-1210-917-00
NURILET<I—Y

4 - 83-1484-921-00
3321/2/9;03 5 0282-72300 FTATEER—Y
EMET SN

80-1210-918-00

NURLEET—Y | 0301-70600

MEigE<r—o

HEINIL

80-1610-919-00 ER AR TYA—
(FATEHHBTDIE)




	名称未設定

	Button1: 


